GUIA N°2 - RESULTADOS
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I= 3,0m )
q=0,5m x 250 kg/m = 125 kg/ml

M=_q 1?=125x3% = 140,625 kgm

8 8

W= M =14062,5 =203,8 cm’
f 69

W=bh?> h= [2038x6 =16,48 cm
6 4,5

2"x 8"

1= 45m )
g = 3,0 mx 250 kg/m™= 750 kg/ml

2

M= ql? =750 x 4,5°= 1898,43 kgm
8 8
W= M =189843 =131,8cm’
f 1440
IPE 180
1= 60m

P = 2,25 m x 3,0 m x 250 kg/m’= 1689 kg
IPE 240

y= 1689 x 600 3 =093cm
48 x 2100000 x 3890

1= 30m )
P =2,25mx1,5m x 250 kg/m’= 843,75 kg

Yoam =300 =1,0cm
300

I= 843,75 x 300 3 =3616cm*
3x 2100000 x 1

IPE 240

I=bh% 45x19° =2572¢cm*

12 12

y=_5x 1,25x300% =0,8cm
384 x 61000 x 2572

Yoam =300 =1,0cm
300

y= 5x75x450% =144cm

384 x 2100000 x 1320

Yagm =450 =1,5cm
300



